Transfers Report

This report contains the transfers results.

Contest Name	Ward 09 - Irvine South
Valid Votes	3,356
Positions to be Filled	3
Quota	840

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Robert John CRAIG	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	81
Robert FOSTER	Scottish Labour Party	761
Joseph HOPKINS	Scottish National Party (SNP)	625
lan KERR	Scottish Trade Unionist and Socialist Coalition	40
Christina LARSEN	Scottish National Party (SNP)	871
Matthew MCLEAN	Scottish Conservative and Unionist	651
David O'NEILL	Scottish Labour Party	327
	Total	3,356

Candidate Christina LARSEN Elected with 871 votes, being in excess of the quota of 840

Transfers Report

This report contains the transfers results.

31.00000

Stage 2 - Surplus of Christina LARSEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joseph HOPKINS	761	0.03559	27.08399
No further preference	45	0.03559	1.60155
Not transferred due to rounding			0.00111
	Total		31.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Ian KERR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert John CRAIG	(6 1.00000	6.00000
Transfer to Robert FOSTER		4 1.00000	4.00000
Transfer to Joseph HOPKINS	8	3 1.00000	8.00000
Transfer to Matthew MCLEAN	:	5 1.00000	5.00000
Transfer to David O'NEILL	9	9 1.00000	9.00000
Transfer to Joseph HOPKINS	;	3 0.03559	0.10677
Transfer to David O'NEILL		1 0.03559	0.03559
No further preference	8	3 1.00000	8.00000
Not transferred due to rounding			0.00000
	Total		40.14236

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Robert John CRAIG

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert FOSTER	18	1.00000	18.00000
Transfer to Joseph HOPKINS	9	1.00000	9.00000
Transfer to Matthew MCLEAN	25	1.00000	25.00000
Transfer to David O'NEILL	19	1.00000	19.00000
Transfer to Joseph HOPKINS	7	0.03559	0.24913
Transfer to David O'NEILL	1	0.03559	0.03559
No further preference	16	1.00000	16.00000
Not transferred due to rounding			0.00000
	Total		87.28472

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of David O'NEILL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Robert FOSTER	264	1.00000	264.00000
Transfer to Joseph HOPKINS	22	1.00000	22.00000
Transfer to Matthew MCLEAN	30	1.00000	30.00000
Transfer to Robert FOSTER	14	0.03559	0.49826
Transfer to Joseph HOPKINS	7	0.03559	0.24913
Transfer to Matthew MCLEAN	1	0.03559	0.03559
No further preference	39	1.00000	39.00000
No further preference	4	0.03559	0.14236
Not transferred due to rounding			0.00000
	Total		355.92534

Transfers Report

This report contains the transfers results.

208.38801

Stage 6 - Surplus of Robert FOSTER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joseph HOPKINS	183	0.19876	36.37308
Transfer to Matthew MCLEAN	242	0.19876	48.09992
Transfer to Joseph HOPKINS	24	0.00707	0.16968
Transfer to Matthew MCLEAN	2	0.00707	0.01414
No further preference	622	0.19876	123.62872
No further preference	13	0.00707	0.09191
Not transferred due to rounding			0.01056
	Total		208.38801

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Joseph HOPKINS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Matthew MCLEAN	109	1.00000	109.00000
Transfer to Matthew MCLEAN	78	0.19876	15.50328
Transfer to Matthew MCLEAN	150	0.03559	5.33850
Transfer to Matthew MCLEAN	9	0.00707	0.06363
No further preference	555	1.00000	555.00000
No further preference	105	0.19876	20.86980
No further preference	628	0.03559	22.35052
No further preference	15	0.00707	0.10605
Not transferred due to rounding			0.00000
	Total		728.23178